® (7h 30 ° @ (th) 4 ® (2 60 °



\
8cm
)

\
/

|
[

D
S
//
1
AN Y%
F E

3cm 13cm

A
zoﬁ
g 1
i
|
|
B C

S =2 UEhffolzt.

7148 7]

A}
™




\
8cm
[}

\
/

\

D
///
1
/OO ]/
F E

|
|

3em 13cm

A

&
i
|
|

B C

/
/
1
m
\
\
\

8c

= tpehyolet

5

Gy
E3
o
el
N
Ho

Tol ol

— N

—_ —

shelat.

=E

(3) zx 9] 27]




th3 I3t Zo] Zo] dA37t Fo] Hlo|ZE HAt /DCE = 50°
o mj, /ABC 2] 27]|E tstolet.




=80°¢%

® /DAB @ /ABE ® ¢ABC

@ /ACB ®B /CAF



6. ol WE the 1w 2ol LS v, 1x 9 2718 Fatolet.

@D 40° ® 50° A 60° @ 65° 3 67°



